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Answer either in English or in Assamese

1. Answer any ten of the following as directed :
1x10=10

oo R i A e ot Sepi Ted o7

(a) State whether ¢ (sigma) is a population
parameter or statistic.

o (sigma) f3sre &ve (7 sifeni® & 41 |
(b) What is coefficient of variation?
TReR 729l 15 2

(c) Define equally likely cases.
STEIBIRT W69 FSeR! 3 |

A23/180 ( Turn Over )



(d)

(e)

(9)

()

(i

0)

A23/180

(2)

If A and B are two independent events,
P(AU B) = P(A)+ P(B)- P(An B).

(Write True or False)

A SF B YO Fog WU W, (SR
P(Au B) = P(A) + P(B) - P(An B).

(W 1 Srem ford)

What is meant by probability
distribution of a random variable?

iR b TSl 35 Ifercet 6 @ 2

What is the difference between the
variances of Binomial distribution and
Poisson distribution?

faei =% 46 9579 2PReE A1l &5 2

What is
distribution?

s Il 35 F 9

marginal probability

Define purposive sampling,
SIS eifohEe FsE fia |

Mention two methods of
sampling.

Ao efSrRma w1 ~1%fS Sy e |

random

If r=0.9, interpret the result,

( Continued )

(k)

@

(m)

n)

()

()

(@

A23/180

(3)

What is the relation between mean,
median and mode?

5T, YT SF 32591 ST 2

Define conditional probability.
BT STEIRO 5w ford |

(Write True or False)

(=7 1 =R foran)

Write the probability distribution
function of Poisson distribution.

@b 3G ISR IB FoC0! forsi |

If two values of a variable in a series are
equal, how is the rank determined?

I 961 MY BT o1 T 9T W (SR CA
LA FH (P W= T = 2

What is scatter diagram?
o ief foq 1 2

Define covariance.

TREPRE gl |
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(r)

(4)

Show that E(c) = ¢, where cis a constant.
GRS A E(Q =c, TS c T o $49 |

2. Answer any five of the following questions :

2x5=10

werq R I #Aioot 2| Ted fop

(@)

(b)

()

(d)

A23/180

Distinguish between arithmetic mean
and harmonic mean.

M 9T AE 2T ST TS 1<l 35 2

If the values of a variable of a series are
multiplied by a constant, what will
happen to standard deviation?

3t B 5T AR @1 7 A o7 3
T, TF [oo1 @ eeifie =3 2

Under what conditions binomial
distribution tends to
distribution?

EARERF 56T SRS faen 959 o5 <5
FERS 27 2

Poisson

A card is drawn from a pack of well
suffled pack of cards. What is the
probability that it is either a king or a

spade?
qﬁ@mcquﬁqwmmwm,

COTR'T 2 F&\ w3y
At A @RE FIfeel

( Continued )

(e)

(9)

(n)

()

0)

A23/180

(S)

Write two demerits of systematic
sampling.

“Tafwre febHTa 151 SRR fordr |

Distinguish  between linear and
non-linear correlation.

R we 9@ SToTEEd TEe #1ET for |

If the first quartile (Q;) =30 and third
quartile (Q3)=35, find coefficient of
quartile deviation.

Tt 29w vpHin (Q) =30 S PO TP
(Q3) = 35 T, (ST72'Ta1 Tpdfid I7Rel Tfere |

Write two properties of Poisson
distribution.

5 B+ 701 4 T |

Mention two variables whose correlation
coefficient is zero.

e YOI DT ST 91 I ST 20 AR
ST |

What is moment?

gefe f 2
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(6)

3. Answer any four of the following questions : (c)
5x4=20

o] & (I B 2 Teq for

(@) Show that standard deviation is
independent of change of origin but not
of scale. ' 5

(ST @ We RoeM 35 4RSS [ 77
8 e ARG 191 Fog 7= |

(@)

{b) There are 3 economists, 4 engineers and
2 statisticians. If 3 persons are chosen
at random for formation of a committee. : (e)
What is the probability that in the
committee there will be '

(i) one from each profession;

() 2 economists and 1 statistician;

(itj) all engineers? 2+2+1=5 “
3 & wAoRm, 4 & SRAe w2 oo
ARPRURTE [T 3 & 051 @B RS o9 41
27 | Afifee—
() AT CPR [ GE& R SRl
ﬁmﬁ? Player
(i) 2 & SARW e aw R e
AT TSI e 2 A
() 3 R ST 2 STt e 2 a
A23/180 A23/180

( Continued )

(7))

Prove that
E(aX * bY) = aE(X) £ bE(Y) 5

oI 39T @, E(aX + bY) = aE(X) £ bE(Y).

What is skewness? Determine Karl
Pearson’s skewness from the following: 5

Size i AT I2un 43 IS

Frequency 125 ST 2O ST S

Sfgol 7 €oR/T SIS [/ e Pieadaa
Srfeer Tfened |

Describe briefly different steps involved
in sample survey. 5

e AP olce wive Rfea 7wz w3
el 40 |

In a 5-match one-day international
series involving India, two veteran
batsmen made the following scores : 5

SRS S AR A SRS )R ¢
(AeTS 2 TF (FORCNCA IR FI AR T
A 4999

Score
9=
1st ODI 2nd ODI 3rd ODI 4th ODI 5th ODI
65 120 15 95 25
46 69 80 65 45
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(g)

A23/180

(8)

Identify the better batsman and more
consistent batsman in the series.

MRYEDNS (e @obea @2 | W
(TS (J05CHA &9 forre 41 |

Income of a group of 10000 persons
were found to be normally distributed
with mean ¥ 520 and standard deviation
is ¥60. Find—

(i) the number of persons having
income between 400 and ¥550;
(ii) the lowest income of richest 500.

For a standard normal variate z, the area
under the curve between z=0 and
z=0-5is0-1915, the area between z=0
and z=1-645 is 0-4500 and the area
betweent=0and t=21is0-47725. 5

10000 23 S [{eae M4Re [{eqeq saee

FECO % 520 5F1 HF T-e {oee 60 5

CoITT T |

(i) REEF RAe 2 SR 400 531 =F 550
TR &S 20T ?

(i) HEe @ 4 500 TR fouqw
EIECTS N - S O S - o
P(0<z<0-5=0-1915,
P(0<z<1-645) =0-4500 i
P0<z<2)=0-47725.

( Continued )

(9)

4. Answer any four of the following questions :

10x4=40

woq 4 (e wifE! 2E e fore ¢

(@)

(b)

CI

Why is arithmetic mean known as ideal
average? State and prove the properties
of arithmetic mean. 2+8=10

afafes see & wred s = @R 2
AT 1% CAFEPTR Te W 2T 9 |

Show that AM>GM =HM. Calculate

mean and standard deviation from the

following table : 6+4=10

(ged 1 AM 2 GM = HM. @< I *fT
5% O TS fJ0e Ofered :

0-9 10-19 2029 30-39

191 ST

Frequency ; 25 39 23

14

FRAECT

(c)

A23/180

State and prove addition theorem of

probability when the cases are mutually

exclusive. From a bag containing 4

white and 6 red balls, 3 balls are drawn

at random.

fi) Find the expected number of white
balls drawn.

(i) Find the expectation of drawing at
least 1 red ball. 4+3+3=10

( Turn Over )



(d)

(e)

A23/180

(10)

FIRCR @R TG0l IS WF 2499 F91 IH
o 701 AR RPe =W | @Bl @orS 451
901 S 651 61 997 102, | 361 997 SR 274 |

(i) 30 F@ A AN o Sferea |

(i) FICHS 151 3¢ 9 (A ST erepr
Tferea |

Derive the mean and variance of
binomial distribution. On an average
2% of population in an area suffer from
TB. What is the probability that out of 5
persons chosen at random from this
area, at least 2 persons suffer from TB?

6+4=10

faem Ro9m oo o 2P Sfeiear | g3 oize
1% fRoICet 2% TR T =W | GR SRR o
W 5 ' W AHEFEE AR WO,
CCR'TE FACFS 2 T Az T AR
SRefael 6 2

Distinguish between sampling error and
non-sampling error. “Sample survey is
advantageous than complete

enumeration.” Explain . 5+5=10

ST & S eform @foq Toe s
i1 “afor ST e e Sl
b tica s N i

( Continued )

(9)

Age of husband

(11 )

Write short notes on stratified sampling

and purposive sampling. 5+5=10

RFe 2Aform SF ToR e AfShT e
oY O feia |

What are the underlying assumptions of
Karl Pearson’s correlation coefficient?
Find Karl Pearson’s correlation
coefficient from the following :

IRl frtem om0 SRR
SfSARIPER Bl | SR SR ol e
fPlCatg ToTEER 7250 S ¢

23 30 35 28 41 45 53

I 71
Age of wife 2 9]l 23 ‘ogl o7a a5 iaaliAn

ST

(h)

(i)

0)

A23—4500/180

Interpret the result.

e R0 40

State and prove the properties of
correlation coefficient.

SR TR0 (AMRIIR TS S A F |
Explain the main properties of normal
distribution.

el 967 Y20 CIMFEBPTR Sl 1 |

Show that in Poisson distribution, mean
is equal to variance.
ofiel 1 G *RD> IBH 518 I PR A 2 |
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